Bass Clef

Expanding Intervals Warm Up # 2
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o) - —
Sl
1 2 3
Perfect 4ths
e b
s Crm) ) 7 -
4 5 6 7 8 9
Perfect 5ths
o« | )

hdl IV {° =
Z IP,\ =D \ U=

10 11 12 13 14 15 16

o ) = 2 = o)

'l: 1 lf) = (=
V4 Pl,\ =

17 18 19 20 21 22

Major & minor 6ths
'l: ] lf) )
Z b = i

23 24 25 26

)
= 2
i — — o
e | 7 =

—ye D =
p—a

27 28 29 30



Tuba

Expanding Intervals Warm Up # 2
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Bb Instruments

Expanding Intervals Warm Up # 2

"Diatonic" 3rds
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C Instruments

Expanding Intervals Warm Up # 2
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Eb Instruments

Expanding Intervals Warm Up # 2

"Diatonic"'

3rds
04 |
y A r )
SEES IR S
oJ
1 2 3
Perfect 4ths
f) # o b
i 3 .
[ fan 4
ANV
oJ
4 5 8 9
> Perfect 5ths
) u
g =
y AW y o) >
[ an ) = A\ WA=
ANIV .
Q) °
10 11 12 13 14 15 16
N ¢ o 2 a 2 a o
n |” - -
[ an i
ANV
oJ
17 18 19 20 21 22
Major & minor 6ths
- = =
A
[ an) = (>
ANV
)
23 24 25 26
)
= (2
f) u 2 — — o
o - ) =
y 4 T =4
[ an
ANV
o
27 28 29 30




French Horn

"Diatonic"'

Expanding Intervals Warm Up # 2

3rds
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